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And a r2° should go out with a w3, from a 221 5p

OVERVIEW

The X713 attempts to derive (through a 1"'p from X"X) that a 722> who is ApPT
to her 02> should be released from the 77 through receiving a v from her
02°. Our Moo1n redefines the term X"X, in order to substantiate this 1"p.

nvoIn asks:
— NY 711932 YAN 90Wa RENY NXIN 127 799 90WAa H%P) 19V YIN NYND N1 NN

And it is astounding! We can refute this 1"p; do you know why an R'"X is
131 1IRXY’ because she may be acquired with a “vw therefore it is justified

that she be released with a "uw, but not a 71m2%; since she cannot be "W NP3
she cannot be w2 IRYY.

Mmoo anticipates a rejection of this refutation and resolves it:
— >R$11Y 139710 195999 KYT XN 99

And if you will argue; that we cannot challenge the rules of XXY7 from
the rules of *71015:7 and therefore the "> remains; but this is not so -

— ©90Y XD 1T 591 DIYM NI 1YW 90WUY N1 135999 (2,1 91) “99¥Y NN
For previously the X713 challenged; what is the reason that =ww is n1p
because it is X% therefore it is justifiable that it is ©%12% (however 701
which is not XX cannot be 0°10n). It is evident from that X7 that we do make
challenges from 78X17 to 770137 -

— NOSIY NIN 1T D3390 1T 191D DNY AN 19 1399

And similarly we should ask now in the reverse that since 0V is ©%19%
(by an X"X) it is justifiable that it is XX (by an X"X); but not by a 7n2. This
should refute the 1"p.

Mo0IN answers:
— 11925 D3’ 9N D TOaY7 INN 290 N

" A 02 is inp the 7n2 (to be his wife) only through 7%°2. See, however, ‘Thinking it over’.

? o107 means entering [into marriage]; referring to the laws of Tw1Tp.

3 AX¥I7 means leaving [a marriage]; referring to the laws of Pw17°) (and 7n°n).

* The fact the something is (or is not) 0°157 should have no bearing whether (or not) it is Xx1A.

> The X»3 there was attempting to prove that 197 is P (for a PwITP 1IP), and was using 0w as a 72
(that even though 77217% 1nX317 PR [similar to 7917], nevertheless it is 7117). The X3 rejected this r°37.

® There can be no X537 (on this 1"p) that qLWw2 N°3p3 19w KR 71, because this X"X (of a 7n37 02°) could not
have been accomplished through a “vw.
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And »'"977 answers; that (when the X773 said X"RS 71) the X713 is making a
Y''? (not from a ‘regular’ X"X, but rather) from a 22% who was already 02

his 173%; after the o127, the 7n2° is LA XX (even though she is not 7¥°“M2 KXY now)

despite that she could not have gotten 012° through 70w -
— AYNRY I INPDY (3 orram) 39NIT YWIN YN DY XD

And the X n3 refers to her as an R'"R, for it is written concerning a 112

‘and he will take her as a wife’, meaning that -
AV P NPNRY 29 HY AN 02 ANEY HPNY 927 Y29 YN NOUYI INPYY 113

Once he takes her she becomes his wife for all matters including that she

is va2 8% even though she is not "wWwWa NP1 [and not A¥n2 ARYY], so
therefore the logic of a 1"p requires that a 12> who is 7%°7172 IR¥Y (even though she is not
7uw3a n°3pl), should certainly be v ARXY.

SUMMARY

The term X"X in this 1"p refers to a 22> who acquired his 7722 (through 7X°2).
This 712> 1s (AVW2) Va2 ARXY even though she could not have been acquired
v,

THINKING IT OVER

mMooin asks that we can refute the 1"'p saying that an AwX is 70W2 nN°1p1 and not
a 7n2.® However, here we are discussing how a fn2 can be released from
the 02> np°1; seemingly this 7p°1 was caused by the original 7217°p, and those
TYNTR can be with Tvw just as by an X"x!”

"1 proo.
8 See footnote # 1.
% See n"nx # 126-128.
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